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BIOLOGY (THEORY)
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e () = w0 O o 26 v &) W ue siferd
Directions : There are in all 26 questions in this question paper. Ali questions are
compulsory.

Giy s B FrefRe sie 3 e sifed )

Marks alloted to the questions are mentioned against them.

(i) TP T P LATAYED Ui FoT W IR Al
Read each question carefully and answer to the point.

(iv) Wmagﬁmmwélmm&mm?wﬁmm%w
3| w8 R 3o FeRyRae ¥ fiRau | vew Sy 2. % 5 7 i a3 99 €
Question No.1 is multiple choice guestion. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 5 are definite answer type guestions.

(V) YT AR 1 1 U WUS U 37 Bl 8| T 6 2 ¥ 5 A% U 3 & Y
¥| oy TR 6 Y 15 T A 37 b Y & U G 16 F 23 AP A 3 &
Ty ¥| yu e 24 3T 26 A TR 31 Py &, TR e v 26 FE/A
arenta U gl
Each part of Question No. 1 carries one mark. Question No. 2 to 5 are
of one mark each. Question No. 6 to 15 are of two marks each. Question
No. 16 to 23 are of three marks each. Question No. 24 to 26 are of
four marks each, in which Question No. 26 is Case/S@urce based
question.

(vi) 39 TS-TF T I R P18 faced el & aenfi siez vl # siiaRe fawed yam
T e &1 0 vyt o e v faswed & & IR el
There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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Filariasis disease is caused by :

() wepRad (i) W% (i) TUE3mEr & (i) gﬁifﬁm@
Ascaris Trichophyton Ent-amoeba Wuchereria

SRR o1 T 8 8 ¢ |

- Antibiotics are produced by :

¢y fefmeRt (i) arr (i) FREEERT (V) st CIEAR
By Vitamins By Chemical By Nematod By Microbes
m@ﬁ%@mmmﬁ%wmmmﬁ%ﬁrw# 1

Transgenic bacteria are used in production of what on @ commercial scale?

() R () dEerRA (i) ara ggfee (V) Al

Thyroxine Testosterone Human insulin Melatonium
Golden rice is enriched in -

i) faefFra o @) oiEREE (i) e AR (v) TR
Vitamin 'A' Anthocyanin o carotene Keratin
-<iE] GEROT H SICRY S gard 1

The genotype ratio in monohybrid Cross 195
(i) Bl (i) i P
(533)9:3:3:1 (iv)1:1:3
anlﬁra-%{g%m%ﬂﬁﬂ%m R T ST € ¢ 1
Haplodiploid sex determination system is found in :
Gy fer & Gy weEE A (i) el | (v) @End

Birds Honey bees Men Snails
& Py i TG B BT et Ea HaH B TSP 1
When was medical termination of pregnancy given legal approval?
(D) 1978 (i A A9 (i) 2017 (iv) 2020
mﬁwuﬁﬁaﬁwﬁm%mwﬁﬁﬁam%— 1
In human beings, after one month of pregnancy, the embryo forms -
() &4 (i) = ity - Sffera (v) 3@

Heart Limb Fingers Eye
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Direction:

o EET-1 3 e oY w@uet #, & BUAl Bl DY (A) FAT BROT (R) &
w0 & Frfea Rar man &) FetaRad fadwed (i), (i), (i) T2 (iv) T q gABR
STPT TRl 3R AT

In next two parts of Question No.-1, there are two statements labelled

as Assertion (A) and Reason (R). From the following options (i), (ii),

(iii) and (iv), select their correct answer.

(i) AT R AE FEl 8 TATR, A B TE TR BT &
: Both A and R are correct and R is the correct explanation of A.
(i) A QAT RN TR & R R, A 3 T8 IR TE B &

Both A and R are correct but R is not the correct explanation of A.
(i) A T8 & 0= R e €

A is correct but R is incorrect.
(iv) AT R 9 e 2

Both A and R are incorrect.

sfiseH (A) ¢
RO (R)
Assertion (A):
Reason (R)
w2 (A)
HRUT (R)

Assertion (A):

ARTIRAT AT TR A Shat  eFes o fiaTe €
R 3 el S TEe % & anfad Wl 1
Mutualism and Commensalism both are positive
interactions in living beings.

In mutualism, both the living beings are not equally
benefitted.

S Py yeraT BT TRETOT TR TRETUT 3R IR AReTT g
far =1 Ao gl

3o Rfear ) deiie aree RaffeaRar #1992 7
zan, ) ‘g e ot et & 1

Conservation of Biodiversity can be made by in-situ

conservation and ex-situ conservation.

Reason (R) The historic convention on Biological diversity held in
Rio-de-laneiro in 1992. It is also known as 'Earth Summit'.
U e 3 U 2 A Yo7 @ U B a1 Bed B 1
What is the presence of more than one embryo in a seed called?
firg 3caRad= @1 v FaeR0 AT 1
Give an example of point mutation.
ag@rﬁaﬁmmﬁmmﬁmﬁw%ﬁ@m 1

Write the name of pathogen which causes Pneumonia.
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e

s

& & @ 82 1
Wwhat is Bt?
Fﬁaﬁw‘mﬁyﬁﬁf\;fammwmm@?mi = asTdal F8 &l 2

Draw a labelled diagram of woman's ovary's diagrammatic section view. NoO

need of description.

Wmﬂfﬁﬁ%ﬁﬁmﬁzwqﬁm@?%@ﬁ?mﬁ 2

Explain double fertilization and triple fusion in flowering plants? Draw diagram

also. '

%"’meﬁmwwaw%‘? Z2p &1 THTd ST

What is medical termination of pregnancy (M.T.P.)? Write its two impact
: 3Udi/OR

W@MT@%%@WW@WW&

Write the name of any four hormones produced by placenta.

w3 % U G& W (T @ g AR (t) el o T B T F dréra F, Ul

3 Frer o b Ul e &Y @R gui HIfse?

A pufa tall (TT) pea p!a'nt crossed with pure dwarf (tt) plant of pea. What types

o

s

N

of plants will be produced in F, 8F, generation? Explain with diagramatic sketch.
Sy Frerior T B 89 e 3 R Ryefeor @1 3eerd BT S o afeee

What is sex determination? Mention the sex determination in human beings.

X9}

Also draw linear diagram.

ymmﬁmawmaﬁzgnﬁawmmﬁﬁam%? o 2 T
T el &2 2
In your view, what motivates youngesters to take alcohol or drugs? How can

this be avoided?

Ry R fare fomof fofee - 1ez=0
Write short notes on the following -
(&) aAREaR (9) AT FRET T

Bloreacter Chemical safety testing
mﬁmwmﬁwmsmmmam%m 2

Write any two benefits of using genetically modified plants.
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18.

19

TEE S0 H UCRES /Y & e hRaul 2
Write the role of Peptide 'C' in human insulin.
U9 239 Y9 & HRON BT 3eg DI

(A%

Mention the causes of Green House effect.

3Udi/OR
F=fofes w aiéa oot ke 1x2=2
Write short note on the following-

) YEanfeT sl (@) R sTReE

Radioactive wastes Chipko-movement

. U T OT W (SIAReH) T 81T 82 FaoTd Y] & [T 9@ Hew saigdl 3

What is colostrum? What is its importance for new-born baby?

3dai/OR
&) gl @ &2 g7 e e sng A & & S 82 17
What is menopause? At approximately what age does it stop?
) URUTH YUIHN &I aTes FReuor ifoi| 114

Draw diagrammatic representation of mature embryo sac.
Tt HERaY T dentae A fofae | anfe = 3= vt & fore wa nitkedl & 921 oM &3
i v fHar? 318 & HRUT §AISEl - : 3

Write the scientific name of the fruit fly. Why did Morgan prefere to work with

fruit flies for his experiment? State any two reasons.
Jonae)) fgeeor ooy &2 Uw fIeeme i R 3uantt 8 Oodr 27 3
What is pedigree analysis? How such an analysis can be useful?

ch&ﬁzﬁ% ) DIBTSHIET H I ST aTel oI 37U U. UTeiaRaT & A1 fafae v

375 Pl FT 3eeg DI 3

Write the name of three R.N.A. polymerases found in eukaryotic celis and mention
their functions.

. SN T §? UG 3ATeH $d T ST 8? IENN 3We H 4G e ST el

F&HSNE B 19 FAR | 3

What is Biogas? How is it produced? Name the microbes used in biogas
production.

YA/ OR
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RrfaRag oz e ol falae - 1x3=3
Write short notes on the following-
(F) g 3RD

Bio fertilizers

(Tg) .38
BOD (Biological Oxygen Demand)
(M) e aXoT
Natural Selection
2 W@mum&ﬁ%mmmmn 3

Mention the processes of Recombinant DNA Technology.
5o Fd R 53 § 31 vaTE & Sibdl o TS|

Give an account of energy flow in an ecosystem.

W

3712191/ OR
SR = owoh falRae- 1x3

Write short notes on the following-
() wiRRefas e

Ecological Pyramid

Il
)

(W) Jraddl
Productivity
(M) 3Ta 9R
Biomass
23. Wil 3R (Natural habitat) H St % meg 2R areh feeal i st fopanet & T
fRa vd 39a dftng aofe ifse? ' 3

Name any three interactions take place between organisms in natural habitat
and describe them briefly.

31er@1/ OR
frer ox <ifere et o - 1x3=3
Write short notes on following-
(&) ufda 3ua (W) T b (M) RfE St Hed
Sacred groves National Park Biosphere reserves
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25,

26.
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Fa

Differentiate between Microsporogenesis and Megasporogenesis. Which type of
cell division occurs during these events? Name the structures formed at the end

of these two events.

JUdi/OR

[

(@) TG S a3 BT e AT A Sie
Draw a neat and labelled diagram of Female Reproductive system.
(@) gHT Td e B IR Freger Hife 2
Make a diagramatic Vrepresentation of spermatogenesis and cogenes:s.
Wémuﬁmaﬁg@aﬁmﬂﬂmmﬁﬁrﬁww%ﬂ 4

Describe the salient features of the double-helix structure of D.N.A. Draw diagram

also.

AYAT/OR
R e 0T 9 Ed €7 aﬁmmwmﬁaﬁw%ﬂwaﬁﬁﬁ%mm{a
et ) e & g A fet v ffaa g Xt g1 st
What does sex-linked character mean? If a colour blind male marries a normal
woman (femaie), how this disease develop in their progeny? Explain
diagrammatically.
Read the following passage carefully and answer the guestions given below-
anmmfﬂ'qﬁa?wqwm#ﬁw%%uq@ﬁﬁm%iUs?ﬁﬂa@traﬁma } gar
Tl mgmw@rmv(msﬂéa.)mmm%i = Yearse off @ 21 T
= 3 dl R Hehi @fts A B W I8 e &l il Y & e ¥ IS 8T
¥ o ugaa &l mméﬁnﬁé,mq‘@aﬁﬁqw%l ZAR 891 § ALK
esaﬁdamw(NACO)aﬁ?ﬂaﬁﬁSAcomﬁaﬁm%mém’ﬁmﬁ@
Bl froq TaRe T 3 B2 TPR B BrawH IR e €, s BT 09,378 3). AT
$r e ¥ WRd 3 T TH| R 3 word T ved e A S 2



The word AIDS stands for Acquired Immuno Deficiency Syndrome. AIDS was
first reported in 1981. AIDS mainly caused by the HIV (Human Immunodeficiency
Virus). It is also called retrovirus. HIV infection mainly occurs by sexual contact
with infected person. It is transmitted from the infected mother to her chiid
through the Placenta. AIDS has no cure, but prevention is the best care. In our
country, the National AIDS Control Organisation (NACO) and in states, the State
AIDS Control Organisations (SACQ) are making people aware towards AIDS
educatidn. World Health Organisation (WHO) has started a number of programmes
to prevent the spreading of HIV infection. For this, we have need to aware and
alert, so that India could lead forward in the direction of Human Welfare. On 1st

day of December, AIDS day is celebrated.

(&) USH U T wpis A qEl H Y et &7 1
How AIDS spreads from one infected person to others?
(@) RS & IIH IR & vgw & wwad § e Hw 1

"Prevention is the best cure” -Clarify in context to AIDS.

() e e W ERT 0 T A SN b b 3 Qe ¥ fords oy e
HrIHH! BT I BT

N

Mention the programmes started by WHO to prevent the spreading of HIV

infection.

3 3K 3k Kk
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